SCKLICP3 -SCK[ISP3 [EFEIR H
ey Jiwata TOHATSU
@
s N
' HE B i &
F @ & )
- - e | EESUSIAER)LE
> SSC | RRE | mmrisonsne)is
; BR(SUS304) 118
o SUSSU | = | mmmisUsx M
SUS304
2B:10~16
gl = i
ol 3
L/2
L+0.1
REE BN RN REE 1
$45C SUS304 WL
= % & & % |m&| ° | " | ° s jpcp ¢ | X M
SCK1015CP3 . SCK1015SP3| 2 10 15 35 4.5 24 12.1 9.5 M6X18
SCK1215CP3 SCK1215SP3| 2 12 15 38 5.5 24 12.1 10.5 M6x18
SCK1515CP3 SCK15155P3] ~ | 15 | 15 | 40 | 66 | 28 | 121 | 1 M6x 18
SCK1615CP3 SCK1615SP3| ~ | 16 | 15 | 4 | 66 | 28 | 121 | 1 M6 18
SCK2015CP3 SCK2015SP3] ~ | 20 | 15 | 46 | 66 | 34 | 121 | 14 M6%20
SCK2515CP3 . SCK2515SP3| 2 25 15 50 6.6 38 12.1 16.5 M6x20
SCK3015CP3| ~ |SCK3015S5P3| 2 | 30 | 15 | 56 | 66 | 44 | 121 | 19 M6x 25
SCK3520CP3| ~ |SCK35205P3| 2 | 35 | 20 | 65 | 66 | 48 | 141 | 225 | M6x3s
SCK4020CP3| ~ |SCK4020SP3| 2 | 40 | 20 | 70 | 66 | 5 | 141 | 25 M6x35
SCK5020CP3| ~ |SCK50205P3| 2 | 50 | 20 | 85 | 66 | 68 | 141 | 295 | M6x35
(Ex. IR e @ o | w1 [X] -
SCK1015CP3 [6[F] »

INEEER

BRI RBI AL R 3T DU
EE S A E




